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1 : Whatisthe work carried to fix national and

state boundaries? | IS 3R I T HTAT3AT Hr
T A o felv T 1 FomaI ATt 87

A : Contouring | a’@\'ﬁ?T

B : Levelling | oiafeiaT

C : Topographic mapping | FQJW
EICICEL)

D : Surveying | GdeToT

2 : Whatis the length of one link in metric

chain? | xﬁﬁmaﬂaﬁm%@rmﬁ%w%?
A : 10cm

B : 15cm
C : 20cm
D : 25cm
3 : Whatisthe name of the setting out the work

on the ground? | &RTdel IR HIY HI TATRAT ket
HTFATATH 82

A : Location survey | TUT J&T0T

B : Preliminary survey | TR FdeTor

C : Topographical survey | Fﬂﬂ'@ﬁ?ﬂé&ﬂw
D : Engineering survey | ST Rar HJeToT

4 : Whatis the principle of survey? | TJ&T0T &1
fegraFare?

A : Traverse | ?}.T:R{T

B : Triangulation | epIofiertor

C : Work from whole to part | CI3 HET  3aad
HT IR P

D : Work from part to whole | 3-13'&3@93’ HTIT
HT IR P

5 : Whatisthe method referred in chain

surveying? | SIS @deTor # fAfdse fafrFar g

A : Inter section method | 33 BF2AT AfET

B : Trilateration method | ';Té' ferexers fafer

C : Triangular method | Berofy fafer

D : Polarco-ordinate method | WW

fafer

6 : Whatis the length of metric chain? | Fﬁﬁ?
HE T T olelTS AT 5?

A : 5mand20m

B : 10mand15m

C : 15mand20m

D 20m and 30m

7 : Whatis the chain of 100 feet long generally
used for taking offset in chain surveying? | SIRI&

gdeToT F 3T o & fav 3mHdR W sEaATeT
aﬁmlooﬁtmﬁaﬂaaﬁﬂﬁr%?

A Gunter s chain | 3TeX SR

B Revenue chain | ToT&d SR

C Metric chain | ¢ ST

D Engineer s chain | sshﬁmaﬂa

8 : Whatis the name of the equipment? |
3T T ATH FAT 82

A : Steelrod | TETel s
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Wooden peg | gg?rﬁw
Off set rod | 3TH AT IS
D : Rangingrod | IfSiaT I

9 : Whatis the surface that is normal to the

direction of gravity at all points? | gg Pl AT A8
%mﬁmﬁgﬁwmﬁﬁwaﬁﬁanw%?
A : Levelling | oiafeiar

B : Horizontal surface | &ffast dg

C : Horizontal line | &¥fa<t @

D : Levelsurface | §Hdel Hdg

10 : Whatis the line that lies on a level surface
and is normal to plumb line at all points? | g il

oY 3@ § I Ueh gt T Gdg 9T e & 3w gy
ﬁgaﬁwmmasﬁrum—er%?

A : Levelline | oiddl oISl

B Vertical line | F&aT8T Y@r

C : Datum line | 3¢H ST

D Horizontal line | &Yfcret {@T

11 : Whatis the limit of error in 20m chain as
per IS? | TSTH & 3TAR 20 HIT ST A I T
AT FATE?

A : £3mm

B : £t5mm

C : £6mm

D +8 mm

12 : Whatis the term for error that occur due to

faulty adjustments of device such as chain may be

too long or too short? | 3f& o forT erec TR S
SIS SR 3URTOT & G Ut HATAISTST & &HIROT &l
%mwmmmﬁw%‘?

A : Natural error | mﬂﬁ'

B : Personalerror | Wgﬁ'

C : Artificial error | fﬁﬂ'g’%

D Instrumental error | SWUT'EI"%

13 : Whatis the limit of error for 30m chain as

per IS? | Hlé'ﬁ'\q'é?ﬁ?:l;\':lﬂmm E’ﬁﬁ'?ﬁ?g’%ﬁ

AT FATB?
A : t2mm
B : t4mm
C : £t6mm
D 8 mm

14 : Which type of tape is commonly used for

measuring offset? | 3T F AT F AT
AT g YehR & T T 3UAN9T AT ST 872
A Linen tape | foiedaT €0

B : Steeltape | T T

o Invar tape | 3=diX T

D Metallic tape | ﬂ'@é’é’q

15 : Whatis the error that arise due to variation
of temperature? | ATIHTT T [HeAdT & HROT
3cUoot glat aTell IfE AT E?

A Natural error | Wg’%

B : Personalerror | Eﬂmaﬁ

C Instrumental error | W?ﬁf

D Artificial error | fﬁlﬂg’%

16 : Whatis the length of metallic tape available

in feet? | W?Nﬁﬁfﬂ?—@éw%‘?

15 feet and 30 feet | 15 e 3iT 30 Hie
30 feet and 45 feet | 30 fire 31 45 fre

C : 45feetand 60 feet | 45 e 31K 60 fe

D : 50feetand 100 feet | 50 e 3{T 100 Hre

17 : Whatis the lateral surface distance
measured from the chain to object? | ST & ared

Tclg T &1 T T A T AT ST &2
A : Offset | 3wde

B Long off set | ST 3THAT

C : Short off set | oI 3T T

D Oblique off set | 3NfseTan 31T A

18 : Whatis the term that the distance
measured at right angles to the chain line from the

object? | g Ieg FIT § i & & S @M dh
HHRIOT I ATIT SATAT g2
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A Short off set | BICT 3T e

B Long off set | o&<T 3ThAc

C Oblique off set | 3Nfeera 36 e

D Perpendicular off set | S9ad 3% AT

19 : Whatis the offset that is measured other

than right angle to the chain line from the object? |

gg 3ThAc FIT § ) iTsotee § e ST W
HHPIUT & TATAT e 10T ATITAT &7

Short off set | Bl 3T AT

Long off set | ST ATRAT

Oblique off set | 3feeTeh 3iTH A
Perpendicular off set | Sead 3% A

O 6060 w >

20 : Whatis the term that is normal to plumb
line at all points? | I8 hisT AT Ql@'%’x‘fﬁﬂaﬁﬁg}ﬁ
T TS TSl & folT ATATT &2

A : Levelsurface | HHd Hdg

B : Datum surface | S¢H Tdg

C : Horizontal surface | afasT adg

D Vertical surface | dad @dg

21 : Whatis the mark established between GTS
bench marks by various government departments,

PWD and other engineering agencies? | ICIECG
AR RS, Ageegd T 31T SRRt
ol garT Shéved S A & S efia
Rea Farg?

A : Change point | clﬁa?cl?fﬁg

B : Arbitrary bench mark | 31feedy s=r AR

C Permanent bench mark | T 8 AT
D : Temporary bench mark | 3EARIY ST AR

22 : Whatis the bench mark established for
short duration and the work should be resumed

from these bench marks? | e 37afer & forw

T o AP 7 § 3R o7 57 AT & 1o oY
O & fohaT STt Tnfee?

A : G.T.Sbench mark | G.T.S S #ATH

B Arbitrary bench mark | fqedr dT A

C : Permanent bench mark | TARAY S AR

D Temporary bench mark | 37T S AR

23 : How the chainis adjusted if the chain is
found to increase in length than the standard

length? | e AT olalTS T Tofell H ol H g o
TS ST & A ST T Y FARNTST R STar 82
A : Byremoving some of the rings | iw_tﬁm
T geTehl

B : By straightening the bent of links | FHiSATH
75 e

C : By adjusting the links at the handle | 85T T
foieh oy AT ok

D : By inserting the new rings as required |
3'|Id?€l°f7dlog(-ll~{ U Soeof STelehy

24 : Whatis the length if metallic tape available

in meter? | e €T 27 #HeX & 3uclst § Al elaTs

FATE?

A : 5mand10m
B 10m and 15m
C : 15mand20m
D 15m and 30m
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25 : Whichis location attraction in compass

survey? | HEUTH FAGTOT H fohad cliehel 3T¢arleT
glarg?

A : Steel Structure | SEUT TITAT

B Building | SAR

C Trees | U8

D Hills | TgTar

26 : Whatis the direction of magnetic needle
always pointing? | Eﬁ%ﬁﬁﬁﬁﬁé@l’%@ﬁﬂ%?
A : East | Tﬁ'

B : West | gfeas

C : South | gf&yoT

D : North |3

27 : Whatis the name of instrument? | I &T
AT FATE?

Pentagraph | YeTaTH
Planimeter | ColaiiHIeY
Tachno meter | ¢l HIeX
Speedo meter | TATEr HreX

o 0O w >

28 : Whatis the type of compass as per the
system of graduation made? | ASFTRT T JUTTeIT

o TR FEUTH T TR FAT 2

Magnetic compass | gd—dcﬂ‘lq hFITH
Trough compass | % h&aTrH
Prismatic compass | [T Searg
Surveyor s compass | AT T HFEIH

O 0o v >

29 : Which method is used for plotting a
traverse survey in compass? | Wﬁtﬁﬁm
detor & forw fara ygufar a1 3uier fhar Srar g

A : Byincluded angle method | TR hIoT
farfer gamr

B : By paper protractor method | W@@W
farfer gamr

C : By Rectangle co-ordinate method | 3TTId -
3Etae fafar ganr

D : By graphical adjustment method | RETcH®

AT fafr gar

30 : Whatis the error if the compass is affected
by external influences? | FFITH H JTELT TG &

THTTA Bl O T 3 82

A : The pivot being bent | ﬁ?l’gé’%ﬂ'

B : Local attraction | FI’IW&@EF?IFT

C : Inaccurate levelling | HQ@W
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D : The vertical hair being thick | FEATER g
T HAICT élﬂl

31 : Whatisthe error if the magnetic needle of
a compass not being straight? | If¢ &g &1
ga@waé%ﬁ%fr?r?ra’rwsr%%?

A : Instrumental error | Wﬂﬁ'

B : Manipulation error | Hﬁ'ﬂﬁ%lﬂgﬁ'

C : Sightingerror | ?{f?c:szrg%

D External influences | STT F8TTE

32 : Which method is more accurate in plotting
a compass survey? | FETH FI&I0T H TAfaT &
fore sla @ fafer i aden g2

A : Parallel meridian method | HHTATAY
ARfeT= Aty

B : Included angle method | 37T 0T fAfer
C : Paper protractor method | Y Yrearex afer
D : Rectangular co-ordinate method | 3P
HI-AStaAe fafer

33 : What angle is differed due is local attraction
at a particular place detected in fore and back

bearing line? | B 3R 9 IR T o157 & TT 31T
ThaT Ty TUTH WX dilehol 3¢ AT I fhd HIoT

AR 37T 3T ST 2
A : 45°

B : 90°

C : 180°

D : 270°

34 : Whatis the true bearing, if the magnetic
bearing of the line is N 37° W and the magnetic

declination is 2°E? | T faaRer Far 819t Ife ot

T Yoehid fITRaTN 37 ° W & 3R Aeaifesh
é?:ﬁi%lﬁ%l?r 2°ER?

A N 35°W

B S35°E

C N39°W

D S39°N

35 : Whatis the variation of declination occured

due to magnetic storms such as earth quakes and

the amount of variation may be even 1° or 2°? |
YaehTy T4aiTsT Sid foh 81ehT 3R eehd hr ATAT 1 ° 7
2 ° g Y ShTclI2led H FUTea] gam

A : Secularvariation | WW

B Annual variation | ¥ ®ITR

C : lrregular variation | JTAITAT AR

D Regular Variation | & ®IIcaR

36 : Whatis the variation, in the magnetic
merdian swings like a pendulum in one direction for
a long period and gradually comes to rest and then

swings in the opposite direction? | ga@u
ARSI # Teh T2 7 Ygefe ol g Teh el
Frarter & Fore eve & 31 N 3T et &5
ToIT 31mar g 3R AR faadia feger & eger wearg ar
FTecX 19T ?

A Secular variation | WW

B : Annual variation | ¥ ®ITR

C Irregular variation | IAIAT TR

D Daily variation | &feier ®ITAR

37 : Whatis the compass with the graduations
are marked as south with 0° and north with 180°? |

Tt SaraTe AU T 0 ° & |1y STaToT H 3R

180 ° o ATY 3R # g fohar srar g
A : Trough compass | €% hFITH
Magnetic compass | TFahTg AT

B
C : Surveyor compass | IR ey
D Prismatic compass | TISHT Searg

38 : Whatis the direction indicated by an
imaginary circle passing around the earth through

the place north and south pole? | 3 3R gfaror
¢d o ATEH J G2l o IRT 3R A e dred
maﬁaamaﬁré?réﬁanw%?

True meridian | ?ﬁﬂ%ﬂﬂ

Arbitrary meridian | feecd aRkfsaa
Magnetic meridian | Wﬁﬁ%’ﬂﬂ
Assured meridian | A feaa AT

O 0o v >
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39 : Whatis the compass that has graduation
marked as 0° on North and South and 90° on East

and West? | WWWQH@I’WW
gfaToT # 0 ° AR g 3R aRe# 7 90 ° W AT
BRI IGINE

A Trough compass | €% h&FaTH

B : Magnetic compass | gd—slel?lq hFITH

C

D

Surveyor s compass | TR ey
Prismatic compass | TOSHT Seara

40 : Whatisthe sum of the interior angle of a
pentagon? | '~it4{1jo1 o 31T HIOT T JRT FAT &2
A : 260°

B : 360°
C : 440°
D : 540°

41 : Whatis back bearing of AB if fore bearing of
AB=63°30? | AB = 63 ° 30 &I Y [SIRT gl T

AB T 3 [IRITgIcAT 87

A : 243°30°

B : 116°30

C : 242°30

D : 115°30

42 : Whatis the magnetic declination, if the

magnetic bearing of the sun at noon is 354°? |

YFIhIY SehicleIRlel 4T §19TT , T, AITeX o HHY

& o1 geehra f9aRar 354 ° 82
TN ; ‘MN
!
,-a-—!‘e.:s
.f!
w—é%gns
s
A 5°W
B : 5°E
C : 6°E
D : 6°W

43 : Whatis the value of back bearing of the line
AB when the fore bearing of the line is 85°30 ? |

ST 3W@T T B fTIRIT 85 ° 30 &1, A I1ST AB &

S SR T FAT AT &7
A : 215°30
B : 240°30
C : 265°30
D : 300°30

43a : Convert W.C.Bearing to quadrantal bearing?

| W.C. & Farge foafer & sgor

160°30'=WCB

A:RB=N12°30'E
B:RB=S19°30'E
C:RB=S30°30'W
D:RB=N70°30'W

43b : What is back bearing of AB if fore bearing of
AB =N 32°30' E? |AB ST B f9aRaT AB= N 32 ° 30
'ETar AB I e feaRergrefr »

A:N32°30'W

B:S32°30'W

C:N32°30'S

D:S32°30'E

43c : Whatis the included angle of line AB =N 20°
30’ E & line AC=N85° 30" E? |[AB=N20°30'E &

STSsT AC = N85 ° 30' E 3 37T hI0T FAT &7

DON224732

A:60° 00
B:62° 00
C:65°00
D:67°00

43d : Whatis the angle between the lines OA and
OB if their respective bearings are 32° 30’ and 148°

00? | IfE OA 3T 0B & & AT fARET 32 ° 30
'3{X 148 ° 00' § T OA 3iX OB & &I ST HIVT FAT & ?
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43e : What is the true bearing, if the magnetic
) A bearing of the line is N 37° W and the magnetic
32% .
" declination is 2°E? | T foraRer &7 greft, afe; amser
& . .
N &l gaehiy faaRar N 37 ° W g 3R Avaifesh
) ST 2 “ E§?
v, j A:N35°W
A ge115°30 ) B:S35°E
B;“:116°3O, C:N39°W
Fa= D:S39°N
C:a=120°30
D:a=125°30
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44 : Whatis the name of the instrument? | I
HTATH FAT8?

ol
A Clinometer | [Felaiide
B : Abney level | TSai ofdel
C : Dumpy level | SFUT Jdel
D Telescopic alidade | eforEpifUa tfoiss
45 : Whatis the name of method in which

tracing paper is used over the drawing sheet to

solve the problems? | HHTAT3T &I T A & fIT
37597 ¢fie IR ST IR T 3TNeT ey Sy A a7
ATH FATE?

A : Bessel s method | 989 fAfr

B : Traversing method | aaﬁmﬁﬁr

C : Trialand error method | qﬁWﬁTg’%
fafer

D : Tracing paper method | &f&eT 9ux fafer

46 : Whatis name of the level which does not
required any protection from the sun? | 39 oldel

o1 +ATH T § TS0 G A 1S GR&TT T 3Taegehel
H%‘r%‘?

Auto level | 3ifer gl

Tilting level | feoITEaT ofaeT

Dumpy level | 39T olgel

Wye (y) level | ST (y) ofael

O O w >

47 : Whatis the name of the error that the
fittings of table and tripod being loose? | 'EI,'%EFI'

FIT AT § Top arforenr 3R faars & fefear delr &t
T g?
A : Errors of manipulation | ﬁﬁl’gﬁ'@lﬂ@'gﬁ'ﬂ

B : Errors of sighting | HI%iEJI Fr ﬂoiézli
C : Errors of instrumental | 39e0T &I Eloiézl‘l
D : Errorsof plotting | CelITeaT I Eloiézl‘l

48 : How you will test the plane table board that
the upper surface of the board should be perfect

plane? | 31T ToleT Sool SIS ST GETUT Sl hidl foh
SIS TSI TAE TET ol glell AT T?

A : Checks the straight edge in all directions |
T feRmm3tt 3 IreY TFaAr Fr ST ek

B : Setup and level the plane table over a station

| ¥ F¥ah 3T T TEUT R Tl el T FHA
Hh

C : Ifthe bubble is not central position, the error
by keeping packing between the underside of the

board | A oo Fi AT G &, A S H

ATl & ofrer Afehar T@eR e AT ek
D : Correctthe edge by filling and again test |

GIRT IETOT & e FHh

49 : Whatis the colour of road metalled bridge?
RELEEICEEIRT ER
Burnt sienna | WWUTEFI'
. Burnt timber | Hﬁgé'm
C : Crimson Lake | Th&HET o
D : Prussian blue | &l ATell

50 : Whatisthe term name for tracing the
drawing by means of ink (inking) with order of

tracing? | 31eITUT & 3TTCRT o AT TITET (1Teh)
HTEIH Y 3137 I ¢H FA o [l Qe T ATH FAT
g7

Technique of tracing | ST Fr deheiten
Method of reproduction | JTeTeT T fafer
Sequence of tracing | WWW
Should be traced in tracing cloth | EFCI?EI?T

a_\':l'ch{o-l H ST ST AR T

O 0o v >

51 : Whatis the name of term that in this
method of survey it is less costly than other types of

survey? | QRWWW%%W@%
uetIfcl # TE 3o YR o HI&TOT hl Jolell H A
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AGIE?

A : One of the advantages of plane table survey
| Tl Sl TS o WIS & H Th

B : One of the disadvantages of plane table

survey | WWH&W%Wﬁ@W

C : Survey can be done in dense wood areas |
HAGTUT Tl STehal o &A1 3 fohdT ST ThdlT &

D : Great skillis required | 31T Sirer T
HTERTHAT &

52 : Whatis name of the survey in which field
work and plotting are done simultaneously in the

field? | 3 TI&TUT T ATH FT & fordH Hies
AR calfeaT ueh a1 Hies # fhu S 82

Chain survey | IsT TJ&T0T

Compass survey | &dTH TJeToT

Engineering survey | 3’31|i?|aiia| Fdefor
Plane table survey | ToleT Coof FdeTuT

O 0o w >

53 : Whatis the method of survey? | TJ&T0T &1
frsiadrs?

Radiation | TafeRoT
Resection | R&erereT

Traversing | gﬁﬁﬁT
Intersection | $eX TaTeT

O 0O w >

54 : Whatis the method of survey? | Gd&ToT I
aferearg?

Radiation | TafeRoT
Resection | R&arereT
Traversing | aaﬁ?T
Intersection | §eI AT

(=2 o T -~ B

55 : Whatis the name of triangle formed by
joining the ground points? | Eﬁﬁ'%ﬁg&ﬁ'&ﬁ
TAETeRT oot TY3YST T AT T 82

A Great triangle | 3181 FFepioT

B : Scalene triangle | %WEW

C Isosceles triangle | waﬁa@ﬁaﬂw

D Equilateral triangle | Wﬂ?ﬁﬁﬁw

56 : Whatis the name of method? | TAfer &1
ATH FATE?

Sy

A Two-point problem | a’rﬁg@rw

B Three-point problem | Eh?rﬁzg@rw
C Tracing paper method | giﬁal Io¥ fafer

D Graphical method | TMThahel [aTer

57 : Which survey is most suitable for filling the

various details between the stations fixed by

triangulation? | @éﬁﬂﬁammﬁrﬁﬂﬁaﬁ%ﬁ
& a1 faffe= faavor & forw sler ar adetor aea

RS

A Levelling | eiafeiaT

B Chain survey | AT TeToT

C Plane table survey | ToleT SaeT AJeToT
D Compass survey | FHEqrT FIETOT

58 : Whatis the method of survey? | TA&TOT I
I Farg?
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A Radiation | fafeoT

B Resection | R&erereT

C Traversing | E’\Hﬁﬂ

D Intersecting | 32?@3:%17{

59 : Whatis the name of method used in plane

table survey similar to that of compass survey or
theodolite? | HF9TH FA&TUT AT FAANBIeNse
HHTE ToloT ool HS&TOT H TgercT Tafer o A1 1

&?

Radiation | TafeRoT
Resection | R&erereT

Traversing | a_crﬁ?T
Intersection | $eX TaTeT

O O w >

60 : Whatis the name of the process of putting
the plane table with some fixed direction so that
the line representing a particular direction on the
plan is parallel to the direction on the ground? |

Colel TaTeT oh TehdlY TATRereT frem o &y ety &

GTShaT T T ATH & dTfeh ArateAT I fordlT gy

feam 1 yfafafica w3 arel t@r AT R fegen &

HHATATR &7

A : Centring the plane table | Tolel ¢ T

FgoT

B : Orienting the plane table | ToleT ool &l

HIRTeE &wTeTr

C : Orienting by back sighting | tﬁ@é’@lﬁgﬂ'
ARG

D : Orienting by magnetic needle | Wﬂé

SNy NRTfear

61 : Whatis the colour of compound walls? |
Hgerd SR ol {7 AT 82
A : H-green | Td-g

B Indigo | airel
C : Burntsienna | 38X SIT3eT LT T
D Burnt blue | §=¢ afelT

62 : Which place the plane table set up for
prepare a road map? | U8 HT IR =T o ToIT

Colel TaoT o fohdl FUTeT O FATTA T ST 872
A : Centreof road | Q:BEFWQT;T

B : Leftside of road | W*E’I’é’%ﬂ?

C : Rightside of road | Wa?a'lém

D : Alongany one side of road | 93 o fohdT
Teh fehed X & 1T

63 : Whatis the colouring building benchmark?
| @Tﬁwmw%‘?
Burnt sienna | 3TgX SIT3+T 13T T
: Burnttimber | Gl?ﬂ'gém
C : Crimson lake | fhHT ol

D : Prussian blue | gl sATell

64 : Whatis the method with three known
object points and its plotted position on the
drawing sheet are taken for solving the problem? |

AT AT 3ifeatere dise & a1 fafer aam & 3R grsar
effe IR sHHI Taile Fr Fufa gaear #f gof FA &
%U?s?m‘s’%‘ﬂ

A : Lehmansrules | oigHe & fAae

B : Mechanical method | ITf3e Afer

C Traversing method | ¢afder fafer

D Trial and error method | W&TUTWE!,%

65 : Whatis the name of problem? | HHEIT sl
AT FATE?
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A B c A B c
\ ! / A\ ! /
\ | / \ I /

Y | / \ | /

y 1 A 1 Vi
a b ¢ a b ¢
\/ AL

P
P P

Two point problem | a’rﬁg@rw
Three point problem | Eh?rﬁgﬁww
Bessel s method | seH hr fafer

Trial and error method | qframaﬂwg%

%Uﬁw>

66 : Whatis the name of method? | Taf&r &1
ATH FATE?

Bessel s method | SHeH &I fafer

Two point problem | Eﬂ'ﬁ?&ﬁw
Mechanical method | T3 A&

Trial and error method | WH'UTB-T"\"E%

%Uﬁw>

67 : Whatis the method with any two of three
known objects points and its plotted positions on
the drawing sheet are taken for solving the

problem? | TFHETIT ST &l e oh ToIT S1SIT T T
foraY 8ft JreT AT 3iTsoiare dised 3R 38 Tolic
fpw aTT vat & wry fafer = g

Lehman s rules | dgH & s

Bessel s method | SeH &t fafer

Traversing method | WT%@T

Trial and error method | Qﬁ&ﬂ'UT}ﬁ'\"?ﬁf

%Uﬁw>

68 : Which method of plane table survey the
figure represents? | ColeT Sool JA&ToT T it T

fafer smepfer el &2

A Resection | fafeRor
B Traversing | aaﬁ?T
o Radiation | fafeoT
D Intersection | $eI TaTeT
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69 : Whatis the name of level designated as self
aligning level? | T TXQUT ofadl & ¥ H ATfAT
AT T ATH FATB?

A : Tilting level | fearfear claer

B : Autolevel | 3iteY gt

C : Dumpy level | 3HUY ofdel

D : Wye(Y)level | G (Y) el

70 : Whatis the name of the levelling
instrument? | WTWWWWT%?

S —

Hi

Dumpy level | SHUT oael
Wye (Y) level | @/ (Y) oldel
Tilting level | feaITeaT oiaer
Auto level | 3ifer g

O O w >

71 : Whatis the name of the levelling
instrument? | ofaloiaT SEZHE T ATH FAT & ?

A Dumpy level | YT ofael

B : Wye(y)level | AT (Y) ofael
C
D

Tilting level | feafeer ofaer
Auto level | 3iTeT dgel

72 : Which column is used, the first entry in the

level book page? | ﬁaﬁaﬁﬁquaiﬁm
R 9T o1 3UeT foha ST B

A : Foresight | WTTQTI—&';ET

B : Back sight | Sioh HTSC

C : Intermediate sight | H?«'q_d?ﬁﬂ'l'g}?
D : Height of instrument | 39ehIUl @';wé

73 : Which branch of surveying deals with the
measurements in vertical plane? | Fdeqor Fr i

Y T FEETER Toled H AT § HTd &2
. Chaining | TfIaT
B Levelling | ofafeidT

C : Compassing | FFITTHIT
D : Planetabling | ToleT e oldT

74 : Which line is normal to plumb line at all
points? | T fag31l R ahleT A STS=T Coldl STS=T &
foT g 82

Level line | oidel oISl

. Vertical line | F¢aTeR ¥@r

C : Curvedline | WWT

D : Horizontal line | &ifas {@r

75 : What bench markis established for short
duration such as at the end of a days work? | fer&Y

F & 3 H H 37 & forw i ar S AR
T forar STaT €2
Arbitrary bench mark | 3Tfeedy &< #1eh
. Temporary bench mark | 37/ERY &9 AT
C : Permanent bench mark | T < AT
D : GTS bench mark | SETTH s AR

76 : Whatis the name of the level that does not
require any protection from the sun? | 38 ofdel T

oI T § T8 G @ ol ot e ot JHraereharr
eI &7

A : Titling level | feaIfear olaer

B Auto level | 3iteY et

C Dumpy level | SHUT oael

D : Wye (y)level | @ (Y) oidel

77 : Whatis the name of the staff used while

the sights are long and the reading viewed through

instrument? | &1 TS oI 8l & 3R 3TaoT
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& ATEIH T US STeY aTel TTH Rl o118 FAT &7
A : Solid staff | SIF FETH

B Invar staff | $edI¥ TCTH

C : Target staff | TRIIC T€TH

D Telescopic staff | CellEehI U TTH

78 : Whatis the name of the staff 3m long and
the band fitted is graduated in mm used for precise

levelling? | 3 #IeX & 3X &3 five fhT aTw
FHAATRIT T ATH G Aafoiar & forw 3uaer frw
mﬁmﬁﬁxﬁﬁm%‘?

A : Solid staff | 1F &%

B Invar staff | SedIX TTH

C Folding staff | BITesIT TETH

D Telescopic staff | el TUH TTH

79 : Whatis the smallest graduated division in
levelling staff? | mWﬁmmﬂjcﬂég
AT FATE?

A : 05m

B : 0.05m

C : 0.005m

D : 0.0005m

80 : Whatis the figure describes? | R guTe
FATE?

A : Reading the staff | TCTH T TGaIT
B : Holding the staff | TCTH I GehsaT

C : Adjusting the level | TR FHTAISIT AT
D Levelling up the instrument | 3Teh0T Sl
HHTT hadl

81 : Whatis the message to indicate the
movement of leftarm over 90°? | 90 ° 9 JIHATT

Frarfa #r AT i & fov Far geerg?
A : Returntoarm | SiTrquT?vﬁé
B : Establish the position | fEfa Tanfd ¢

C : Movemyrightlﬁffd‘l‘@umw
D : Movemyleftlﬁﬁa'lé'msff

82 : Whatisthe process if the difference of level
between two points is determined by setting the
levelling instrument midway between the point? |

1T & it & dfrer b everer o e Rig dp ey
FHRA e @l Aeia s e fmar smar
‘s‘a‘rwm%&?

Simple levelling | &9l efafelar

: Profile levelling | q’ms?»raaﬁw

C : Differential levelling | FSHIfAer slafelar

D : Reciprocal levelling | ¥&YIhel oidfeidl

83 : Which type of the collimation error is

eliminated? | WW@'WQH%’%W
GECIGIRE

A : Dumpy level | SHUT olael

B : Wye(y)level | Wye (y) EX

C : Cooke s reversible level | Wia@a@r
el

D : Cushingslevel | ff‘@lﬂ@l?ﬁr

84 : Whatis the name of the imaginary line of

constant elevation on the ground surface? | STHIT

Tdg W AR Fa18 Y Fredaieh IW@T T T AT
g7

A Relief | Tgd

B Contour line | FHTTT 3@T

C : Contouring line | hERAT ellSsT

D Contour interval | THTA 37Tl

85 : What method of contour is suitable for

small and low undulating area? | AT &I hieT TY
fafer B¢ R e 3 817 & foIv SugFa g2

A : Bysquare method | g fafard

B : By crosssection method | g JarerT fafer
Gant

C : Bytachometry method | %aﬁﬂzfr%%a\am
D : Bylevelling method | aa’rﬁwfaf%ra\am
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86 : What method of contour is suitable for
contouring in hilly areas? | ggTST 8731 & FHT
ToTIeY 35 FOYT Trten 3 ey o0 R SR 2
A : Bysquare method | g fafara

B : By crosssection method | $rE aFeTA TAfer
EarT

C : Bytachometry method | éﬁﬁa%@ra\am
D : Bylevelling method | aaﬁﬁ%ﬁra\mu

87 : What R.Fis select the drawing of building
sites as a topographic map? | {-Hoilelgfach HTATI

& &9 H [AATOT TUT T 3187 T TATAT R.F FT

g?

A 1/100

B 1/1000

C 1/5000

D 1/10000

88 : What measurement are plotted to a plan or

a map? | TodY IS A1 T H 7 A9 fear SArar
g?

A Linear measurement | {&R—T AT

B : Angular measurement | Frofg AT

C Vertical measurement | FEAER AT

D

Linear and angular measurement | ¥f@ 3R
FIofT AT

89 : Whatdimensions are drawn in a plan of

contour? | GHTT &1 AraTAT H hiT T ITATH 872
A : Vertical dimension | F€aTeR 3TATH

B : Horizontal dimension | &fcet 3mameT

C : Inclined dimension | A& 3T

D Parallel dimension | HHTTAR 3T

90 : What levellingis called as in direct
levelling? | STIREC oldafeldl H oldfeldT T T gl
STATE?

A : Plane table levelling | Tl ¢ael olafelar

B : Trigonometric levelling | ECIMIGGIE
saferr

C : Reciprocal levelling | YHTHTehel elafelar
D : Simple levelling | F&9er ofafelar

91 : What will be the difference of level A and B
if the B.S is 3.560m and F.S is 2.860m? | gig B.S

3.560m 3T F.S 2.860m & aT A 3iR B & olgel & &1

A gem?

A : 1.700m

B 1.600 m

C : 1.500m

D 0.700 m

92 : Whatformulais used in arithmetic check in

height of collimation method? | 3UIUT &1 TS
fafer 7 sferarfOrclrar Sitar 7 foner T & 3uter fama
STl 87

A : 3BS-3FS=LlastR.L-FirstR.L|ZBS-3FS

= 3ITdHFR.L - UEATR.L
B : BS+XFS=LlastR.L-FirstR.L|XBS+2F.S

= 3ITdHFR.L - UEATR.L
C : B.S-FS=lastR.L-FirstR.L|B.S-F.S=3ifa®

R.L-9gaTR.L
D : XBS-3FS=Rise-Fan=_LastR.L-FirstR.L|

3 B.S-.SF.S =8 - Bl = 3ifa# 3IR.TA. - UH
3T,

93 : Whatis the height of collimation shown in
figure with R.L 100.00 and B.S taken from A is 2.850

m? | =T & 3gaor it Fars F7ar gefy e 100.00
T AP fORITIMATB.S2.850m &

g

%\4&7 y
A

RL=100.000

100.520
100.850
102.850
103.000

OO w>»
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94 : Whatis the purpose of using theodolite
primarily? | WW@WWWW
ERE AL DI N E

A : To measure vertical angle only | shael
FEATLR 10T I AT & folT

B : To measure inclined angle only | WW
SHIUT I ATYA & foIT

C : To measure horizontal angle only | 3del

SITAST I0T &A1 AT & forT

D : To measure horizontal vertical angles |

SISt FEaTer 1T & AT & fow

95 : Whatis the instrument with its telescope
can be revolved through 180° in a vertical plane

about its horizontal axis? | w@rag-qﬁ?rafrm
SITAIST 3187 & IR H Ueh FeaeR faAT 7 180 °
ATETH T FATT fohar ST TehT 872

Auto level | 3ier g

Dumpy level | &I oidel

Transit theodolite | @ﬁfm

Non-Transit theodolite | #ieT - Eifaie

IBRIEGIE

o 0o w >

96 : Whatisthe name of the part marked as X?
| The X o &9 H TRITETT HIIT T ATH FAT &2

[
A

U=

g

Trivet | ;‘Iéﬂ?
Eye piece | 38 91

Telescope | a,g‘qﬁ?r
Tripod head | ;"I'g';qv'l?s'%_s'

O 0O w >

97 : Whatis the name of part marked as X? | X
& ¥9 H RAfgAd AT T AT FAT R ?

A Level tube | AT T

B Metal case | F—I’I%’EFFEWT

C : Bubble tube axis | 9ol €T &7

D Top of Telescopic axis | TTERITUH 3787

98 : Whatis name of the component? | &ceh ol
AH FAT8?

Il | €9 —

A Telescope | E{{Tsﬁﬂ'

B Dumpy level | chﬁ'ﬁa?l'

C : Wye(Y) level | T (Y) ddel

D Cooke s level | WW

99 : Whatis referred to smallest measureable
unit in theodolite? | FIAISIase H TaA BT AT
Wsméaﬁwmm%?

A Double sighting | Sdcf ATSfEaT

B Least count | 3TeCcHTh

C : Swing | f&aer

D Contouring | EhTS,ﬁ?T

100 : Whatis the method in prolonging line? |
grelifater ase Fr fafer g?
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A : Prolonging line by first method | 9geil fafer

B : Prolonging line by second method | ?{Hﬁ
C : Prolonging line by third method | IR fafer

D : Prolonging line by fourth method | tefy fIafer

101 : Whatisthe method of precisely the
horizontal angle from a single station point can be

measured? | mmﬁmﬁgmﬁﬁaw
Fr S &7 frg R T amar srasarg?

A : Reiteration method | R¢eret fafer

B Recipetation method | Yf&TcereT fafer

C : Radial method | 33T fafer

D Off set method | 3iTRde fafer

102 : Whatis the deflection angle that the angle
measured in clockwise direction? | a8t ShroT

FT & ST IUT ol GIATUTIA TSI H HTIT ST g2

A : Left deflection angle | STT [d&TquT HIOT

B : Right deflection angle | T fa&TquT ShoT

C : \Vertical deflection angle | Fearer faerqur
o7

D : Horizontal deflection angle | &3faer fagigur
o7

103 : Whatisthe name of theodolite with one
of its telescope cannot be revolved through 180° in

a vertical plane about its horizontal axis? | 39T

SAERIT H T Teh o A1 FRAASIaTse 1 A1 F41
g, 30 &IfcoT 3787 & IR H Ueh FLATER Toldd 7 180
° o FATEYH H YH o161 Hehl 67

Auto level | 3iTeY et

Dumpy level | ST ool

Transit Theodolite | gTfote RAIATSIeSE
: Non - Transit theodolite | ﬁﬂ—;‘iﬁlﬂ'

IBEIEGIE

104 : whatis the technical term for the process

of bring the vertical axis of theodolite immediately

over a mark or station point? | @I?IT*I'IEE’@'
FeaTeR ¢l o Rl vt I w2 foig o
@rq%m%ﬁ»mamﬁﬁﬂ—dw%?

Cantering | QR'UT

Traversing | ?:dﬁ?T

C : Non-Traversing | ;ﬁa'-aaﬁ?T

D : Collimation | dIfeIALET

(=2 o T -~ B

105 : Whatisthe term for rotating the
telescope in horizontal plane about its vertical axis?

| 31T FEaTeR 3187 & IR A &ifdst [aATeT 7 &t
Y FAT & oI 7 2ec; &2

A : Cantering | higd

B Revolution | ﬁaﬁ?&gm

C : Swing | f&aer

D Sighting | @TsfeaT

106 : Which method errors due to eccentricity
of the spindles are eliminated by reading both the

Vernier of the theodolite? | Eafeger T sTTITALET
& HROT HieT W Ay Jfear Reiense & gt
iR &l 9gat & FATCT &I STl 62

A : Ordinary method | ETYROT fafer

B Repetition method | Wﬁﬁ

C : Recitation method | Yf&eer= fafer

D Compound method | W%ﬁ

107 : Whatisthe name of traversing that is
used for running survey lines of a closed or open

survey? | aaﬁwao‘ramw%a’rwaamlgﬁ
FAETOT T TALTUT ATSAT T TelTet oh ToIT ITIIT
BRI IGINE

A : Chain surveying | T GdeToT
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B : Compass surveying | HETH HIETOT

C : Theodolite surveying | faaTsIemse TdeToT
D : Planetable surveying | ToleT &deT T O

108 : Whatisthe method of prolongation of a
straight line that result cumulative errors, if the

instrument is not in adjustment? | U Arefr y@r r
GG el ol TATEl T § Toieeh IROUTHET®T
T 1T Bl §, 3R 3UVT HHTANST H 781
g?

A : Prolonging a line by first method | IgelT [aTer
B : Prolonging aline by second method | E{Hﬂ'

C : Prolonging a line by third method | &fr&{r
D : Prolonging a line by fourth method | tefy

109 : Whatis the method used for the
instrument is suspected with improper adjustments
and the error is doubled or reversal of telescope? |

39T & eI I TATIIST & Ffe Sl g1 a1
XA 31T 8 ad FleTa fafer Juier iy s &2
A : Prolonging a line by 1st method | Igell fafer
B : Prolonging aline by 2nd method | ?{Hﬁﬁ@
C : Prolonging a line by 3rd method | Y fafer
D : Prolonging a line by 4th method | Tteft fafer

110 : Whatis the adjustment done to place the
vertical axis exactly over the station? | 3€dTeY 3787

T T2 I TG oh [oIT haT 13T FATASTT FaT
g?

A : Settingup | &faT

B : Centering | awT-E{UT

C : Levelling up | eafeldr
D : Focusing | BIhTGT

111 : Which method is adopted while the
instrument in improper adjustment to establiish the

intermediate point? | mﬂaﬁﬁgﬁﬂﬁ%?ﬁ'@
3o TeIel SYROT HATATST oh GRTeT et &Y fafer
3YATS ST 87

A : Backsight | 9 ITSC

B Fore sight | EFUITQ:I'IEE'

C : Single sighting | T&aTer ATSTETT

D Double sighting | S&Tel ATSfeaT

112 : Whatis the test carried in theodolite to
make the plate bubbles centre to run if the vertical

axis is truly vertical? | qﬁmwaﬂaﬁ
Tellel o T FRAASTrse A shioT a1 gdieqor fhar
ST § A FAT FEATER 3787 arEdd H FEATER 872
Spine test | QITIBT-T?R-T
Plate level test | Tole odel &&e
Collimation test | FITHAT CEE

: Bubble tube adjustment | SsTel I
HATASTA

o 0o v >

113 : Whatis the traversing that a device is used

to fix direction? | Saf&eT T § Toh Uah FEars@ &1
39N fERAT T e & TT FomdT STTem g2

A : Chain traversing | ﬂﬂiﬂﬁﬁ

B Compass traversing | Wﬁaﬁﬂ

C : Theodolite traversing | fﬁ'&’l’s"lﬂﬁl’w
D Plane table traversing | @Hé‘@lﬂaﬁfw

114 : Whatis the major disadvantage of open
traverse? | WWWQ@'@WW?

A : Thereis no check on summation of angles |
HIOT o AT O IS N1 oTeT &

B : Check both linear and angular measurement
| ST Qe 3R rofr AT Y T T

C : Traverse are terminate at the same point |
Teh 81 foig IR ¢ad ! FATe fham ST &

D : Mathematically closed and geometrically
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opened | IO ¥ & §¢ IR ORI §a &
GrelT 7T

115 : Whatis the name of survey done after
balancing traverse? | Wﬁﬂ@ﬁﬁmé?aﬁ
forT aTT Fd&TOT ST ATH FATR?

A : Offset survey | 3iThaeE TdeoT

B : Radial survey | Yf3er gdgTor

C : Plotting a traverse survey | Ueh 3eJ9EA
gdaToT THlfe Fer

D : Bowditch s method | s $r fafer

115a : What s the least count of theodolite

instrument? | FAATSIATSE 39RIOT ST TcUdHTH
FATE?

A:20'20"
B:20'10"
C:0'20"
D:20'5"

115b : What is the one main scale division of
vernier thedolite? | afIaR fAATese A HET

YHTSY T Teh HIET FATE?
A:15 -0"
B:20 -0"
C:22-0"
D:25 -0"
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116 : Whatisthe term referred as fixing of small
timber battens to timber walls with laths and

boards are nailed to it? | BICT oThal hT 9T ahl
TIhar I Erart R enfSat & Sk alel oh T H
ﬁ%&c%mﬁﬁmwaﬂuﬁ?r%?

Rebating | Rafear

Studding | T&f3aT

Mitering | ATSeRaT
Grooving | II;%?T

O 6 w >

117 : Whatis the maximum range of distance

between vertical channels? | F€aTeR JaTall & ST
ohT oI <hT JTRrehcTe AT T &2

[ ]

S B o

]

pre

[ XX XX XX
| XX XX XX

| XX X
L XX XX

P
A 60 - 80 mm
B 80 - 100 mm
C 100-120 mm
D 120- 140 mm

118 : Whatis the thumb rule for breadth of
window? | mﬁa’@é’%ﬁvwmw%‘?
A : 1/5(Width of room + Height of room) | 1/5
(FR T ASTS + FoR Y F4ATS)

B : 1/8 (Width of room + Height of room) | 1/8
(FF F1 TIEES + FR 1 3T1S)

C : 1/10(Width of room + Height of room) |
1/10 (X T TS + HEY H FT1E)

D : 1/12 (Width of room + Height of room) |

1/12 (FFEL HT TS + HAX T FT1E)

119 : Whatis size of window shutter in window
designation “12 WT 12”? | 12 WT 12 [d8r qeaTd@ &
TISHhT & AT T HTHFR FAT 8 ?

A : 1200 x 600 mm
B : 560x1100 mm

C : 1100x460 mm
D : 560x1200 mm

120 : Which type of windows are controlled by
pulling metal weight? | QTIT;TQ'T ToTel T Tiaa ThE

R I fasferar AaRa $rardr g2

A : Double Hung Pivoted Window | S&eT 4T
Raies fasr

B : Casement Window | hd#Hc Rgshr

C : BayWindow | & T@3sr

D : Clere storey Window | #foTelr f@shr

121 : Whatis the ventilator provided in
continuation of Door/Window at its top? | dfceiex

ga / TSI Y 379eY o o) Sy Ty &
gcTeT TohaT STTcT 87

Fanlight | BeTellse

. Sky light | THTS TITSE

C : Dormer Window | 3R 3=y

D : Corner Window | Eﬁlﬁ'ﬁf@%ﬁ

122 : Which window is provided on sloping
roof? | Tellel dTell B IR hleT AT TESHI UeTeT hr

ST &2

Table Window | &&e fa3r

Lantern Window | CICIGRICEC ]
Dormer Window | 3R fasr
Clerestory Window | SFelREerT fasr

o 6o v >

123 : What s the process of sinking the edge of
one piece of timber to another by cutting grooves

across its grains? | STehal o FUX TN I HICHT
ST & Ueh Zohs T QAR Tehat X U TWa T Tfshar
FATE?

A : Housing | 83T

B Moulding | Ffesar

C : Planing | TaTfaiaT

D Chamfering | IHBRAT

124 : What s the name of carpentry joint? |

TSN SV T AT FAT &2
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N

Matched and Beaded joint | f&eITeT 3k digg

Matched and V jointed joint | f&ereT 3R v

Dowelled joint | ldes SIS
Ploughed and Tongued joint | Tol98 3iR €318

- SN G i

125 : What is the name of joint? | SIS &I ATH
FATE?

+ =i
L 3
S Y )

Lapped joint | It8 SIS
Fished joint | fhers i
Scarfed joint | T SIS
Tabled joint | ¢se38 SIS

o 0O w >

126 : Whatis the name of carpentry joints? |

FRYS ST T ATH FAT 8?2

N

A : Buttjoint | SC SIS
B : Splayed joint | TS SIS

C : Rebated joint | Recs IS
D : Fished joint | RS SIS

127 : Whatis the name of carpentry joint? |

FRYT SNST &7 ATH FATE?

AN

Rebated and filleted joint | Rees 31T fth oS

Rebated joint | Rees S5

Rebated Tongued and grooved joint | iia@g
&a1s 3R ez Sise

D : Tongued and grooved joint | €318 3-ﬁT3,]\03

VS

SUESS

A
S
B
C

128 : Whatis the name of carpentry joint? |

FRUST ST &7 ATH FATE?

Shouldered housed joint | N33 §I3H IS
Housed joint | gE3g SIS

Mitred rebated joint | FTSeX §13T SIS
Dovetailed housed joint | 3a¢e3 813 SIS

O 6o v >

129 : Whatis the name of carpentry joint? |

FRUCL SNST &7 ATH FATE?
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Angle halved joint | T3Tel §THS SIS
Tee-halved joint | EI-gTHS SIS
Dovetail halved joint | 3d¢cs 8TH SIS
Bevel halved joint | 9IS &% SIS

o 6060 w >

130 : Whatis the name of carpentry joint? |

FRUCL ST T ATH FATE?

Oblique - Tenon joint | 31ifeeTe - EFIFN:PEIDEI'_CT
Birds mouth joint | ETSQFH'B'QTGﬂ's'

Housed joint | §I3H8 SIS

Mitred and Rebated joint | #TSeY U8 Raes

%UOWZD

131 : Whatisthe name of part marked as X? | X
& & A REAT AT FIAH FATE?

[ ]

— —

Bottom rail | STCH el
Top rail | e el

Lock rail | CIERCH
Frame | %ol

(=2 o T -~ B

132 : Whatis the name of part marked as X? | ?
X o ®F H FATETT $119T T AT FAT 82

— 7|7

— = = [

Hold fast | 8T8 BIEC

Horn | glet
Frame | SheT

Style | ¥cIsol

o 0o v >

133 : Which is used to subdivide a door or
window with a vertical member of a frame? | ST
Teh The oh SEATER TGET o AT Ueh &Xarall AT
Targhr ot ger & et & T sueT v Srar 2

Mullion | ﬂﬁﬂﬂ
B Transom | A
C : Style | ¥cIsdl
D : Lockrail | CIERC]
134 : Whatis a depression / recess inside the
doorframe to receive the shutter? | e 9TCd et
%%rtrawﬁra:mwww%?
Mullion | ﬂﬁ'q?{
B Transom | ';'I@FFT
C Rebate | Ree
D : Sill|cgell
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135 : Whatis the relationship of width of door

and H height of door? | Wﬁmwm
$1 FATS H T FAT T &2

A : H=(Width+1.5m) | H = (23 + 1.5 HeX)
B : H=(Width+1.35m) | H= (85 +1.35
Hiex)

C : H=(Width+1.2m) | H = (31S + 1.2 Hex)
D : H=(Width+1.1m)|H=(TEE+1.1#Hw)

136 : Whatisthe name of part marked as X? | X
F ¥9 H RIETT 06T FTATH FAT 82

/—X
7

Lipping | TorToaT
Batten core | YT PR

Cross band | P s
Panel | ool

O O w >

137 : Whatisthe name of hinge? | &Il &l ATH
FATE?

Counter flap hinge | T3 FelT Tl
Butt hinge | §¢ fgeat

Back flap hinge | S FolT fgeol
Garnet flap hinge | Tﬂﬁ'c."q-ﬁq%\?

o 6o w >

138 : What s the size of opening for designation
“6 WS 12”7 | 9&=ATH "6 WS 12" & foIT @it &r

3R FATE?

A : 600x1200
B : 1200 x 1000
C : 1200x 1200
D : 1000 x 1000

139 : Which window is provided near the top of
main roof? | FE &l o MY & I HleT T &z

eTeT Y AT 872

A : Panelled Window | WW@E@'
B Casement Window | FHaHc f@shr
C : Clere storey Window | #TSTelr &SI
D Table Window | &&eT faaT
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140 : What is the road safety Sign? | #Seh &I

RIeg FaT8?

A Mandatory sign | Jifaar gha

B : Cautionary sign | GTaYTsil &T b
C
D

Informatory sign | FeITcHh Hohdl

Prohibition sign | TS Hehd

141 : Whatis the name of tool? | Cel bl ATH
FATE?

_—

A Wire Stripper | arR f&eux

B Crimping tool | fShT&IRT 3TaRioT

C : Combination pliers | dToTeT EXIAT

D Diagonal cutting piers | ot e e
142 : What s the unit of electrical resistance? |
ﬁaﬂﬁmrﬁrsaﬂéw%?

A : Volt|dleT

B : Ohm |37

C : Watt|dc

D Ampere | TFITX

143 : Which instrument is used to measure

electric current? | ﬁagr—rmafrmﬁra:ﬁtr
ﬁm'éhlch{ul T 3YT4] ﬁ"_QToﬂdl %?
Ammeter | AT

Voltmeter | dieeaTex

Wattmeter | dTcHIC

Ohm meter | 37 HreX

O 0O w >

144 : How many electrons are there in the third
shell of copper atom? | Hﬁa'TWTUIQFWW
H fFd=t selFela &7
A .
B : 13
C : 18
D 29
145 : Whichis a conductor of electricity? |
mﬁwwaﬁﬁ%’»
A Mica | 3Th
B Copper | dTET
C Air | 91
Pl
D Glass | s

146 : Which is a temporary wiring? | 37Uy
araiear sl drg?

A : Casing and capping wiring | 3TTaXoT 3iR
HIT araier

B : CTS/TRS wiring | @IEred / E13TRTH arafer
C : Cleat wiring | FeraRer araRar

D : Lead sheathed wiring | o8 FITeT arIRaT

147 : What is the name of diagram? | 3TRW &l
AH FATE?

g

pas o

®

Layout diagram | SIT3C 3IRG
Installation diagram | TUTIAT 3IRW
Circuit diagram | Iféhe 3IRW
Wiring diagram | arafXaT &l TerRIT

O 0o v >

148 : What s the unit for quantity of electricity?
| TosTely T AT & fow sohrs FAT 82

A : Mho | FgY
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B : Coloumb | pelleEs
C : Volt/Second | @rec/aHhs
D : Ampere/Second | TFURX / B3

149 : Whatis the first aid to be given to stop the
bleeding of the victim? | GIfSd o IFaATT I Ahad
o for & S1er arelr yrafaes Rifrcar Far &2

A : Applying ointment | AXGH oIITTAT

B : Keeptheinjured portion upward | gTdel
REY A IR A 3R G

C : Covering the wound portion by dressing |
3T ganT ara & FE T &hatr

D : Applying pressure over the injured portion |
T 880 I ST SATa] AT

150 : Whatisthe golden hour for victim injured
on head with risk of dying? | Fet o STEH & AU

ﬁwwgﬂ%aé:ﬁvmﬁmmw%?

A First 15 minutes | 9gef 15 fAsie
B First 30 minutes | 9geol 30 [Aae
C First 45 minutes | 9gof 45 fAsTe
D First 60 minutes | 9gol 60 A
151 : Which condition of the victim is referred

as COMA stage? | Df3d &1 forg RRafa s coma
AT gl SATAT8?
A : Unconscious but can respond to calls | Sgrer

CIEGEICEIRCICE TR C b

B : unconscious but cannot respond to calls |
ST olfehel el T STATS T8l & Tehll

C : Breathing but cannot respond to calls | RaTH
AT il T STaTe AT & Thell

D : Lietotally senseless and do not respond to
call | G oG @ HAGTEIeT gl oIc 3T et hl
CEICE Ry

152 : Whatis the use of tool? | 39hIUT ol
SUAET FAT &2

YR >S———0D
Holding the hot substances | I ICTY Thsa
Calling and twisting wires | ﬁﬁ?T}ﬁT%ﬂT

A
B
SIEY
C : Extracting nails from wood | aa»—s?r@ramsr
IGEACE

D : Loosening and tightening of bolls and nuts |
aier 3R 77 et IR Fa=T & forw
153 : Whatis the purpose of switch in electrical

circuit? | T Hidhe 7 T 1 3egeg Fag?
A : Regulate the rated supply voltage | 3¢3
SRt Aot Y R

B : control the amount of current through load |
TS & ATEYH Q TAATA T AT & FIFT

C : Start (or) stop the flow of current | ¥IR&T ()
AT & JaTg Y A

D : Provide the path for the current to flow |

JaTg & oI aada T & fov 927 yere &

154 : Whatis the indication of neon polarity
indicator used for checking AC supply? | AC HTq‘ﬁ
T ST o forw farer arerReT $fEehex 1 Tohd T
g7

A : Both electrodes will glow | GI<il Selaels
THR

B : Onlyone electrode will glow | hael Tah

SIS THF SATTI

C : Both electrodes will be flickering | &l=it

Solerels feAfeAT g glar

D : One electrode will glow and another will be
flickering | Ueh SeloFcIS TS ST 3-ﬁT§§NI
feafear sreem

155 : Which instrument is used to test the new

wiring installation? | WWW\@QHW
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TIETUT et o ToIT foh & 3TRIOT ST 3UITIT fohar
ST E?

A Multimeter | FecIHICI

B Ohmmeter | 3T&H HIeX

C Voltmeter | dlecHIct

D Megger | #AIR

156 : What effect of electric current is applied in

ceiling fan? | "ifcier thet 7 Scifdeeh e o1 FaT
HTT ISl ?

A : Heating effect | A9 YHATT

B : Chemical effect | AT THT

C Magnetic effect | i_l;ﬁ@'ﬂ'qm

D Gas ionization effect | 3T TIATRIOT THTT

157 : What is the maximum permissible load for
a light and fan sub circuit as per IE rules? | IE To&#T

& 3eTHN Ueh Yehl2l 3R 92 ek 3 Hiche & faw

HTheTd ITAT AR FATE?
A : 800 watt

B : 1500 watt

C : 2000 watt

D 3000 watt

158 : Which is the polarity of direct current
(DC)? | JcT&T &R (DC) T el ahleT T 872

A : Phase (L) and Neutral (N) | g (L) 3-ﬁT@:§H
(N)

B : Phase (L) and Negative (-ve) | BT (L) 31X

T UTcHSb (-ve)

C : Positive (+ve) and Neutral (N) | EIeITcHSD (+
an) 3 =gger (N)

D : Postive (+ve) and negative (-ve) | ¥elTcHSD (+
ve) 3R FOTcHS (-ve)

158a : What immediate action to be taken if a
person get electric shock? | 3R fordT safad &hr
ToroTelT &1 ST f@er dT T dcshlel HIRATS Hr
Sreefr?

A : Report to your authority | 379 JTFR Fr
Rarc &y

B : Call for the doctor for medical treatment |

Rifhcdes @ Rifhcar & faw e

C : Call other persons for help to rescue true victim
| g NfST F T & FAIT 37 IfFaaT
Hee & farw germd

D : Switch ‘OFF’ the power supply | TersTelT T
3Mgfet t ‘e Y
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159 : What is the name of floor? | HToTel ST
ATH FATE?

el L T T
2"
e, Nty

Marble floor | HITFEFR FT HA
Muram floor | ﬂmtﬁﬂ'
Mosaic floor | ﬂ’l_g\-lﬁtﬁﬂ

Solid ground floor | Waﬂ\ﬁﬁ

o 0O w >

160 : Whatisthe span for provision of
herringbone strutting in single joist timber floor? |

Tehol SIIEC TThal & BT H gReET Eefear &
m?ré;ﬁtrma—'m%?

A 1.0 m

B 1.5m

C 20m

D 24m

161 : Whatis the maximum span for single joist
timber floor? | Tehel SIIEC olahal & BT & folw
TR AH 3aT FATE?

A : 25m

B : 30m

C : 36m

D : 40m

162 : Whatisthe name of part marked as X? | X
& U H RAETT HRT I AT FATR?

o

I

Ceiling joist | HifelaT ST

Wall plate | arel Tl

Common rafter | Pl AT

Herring Bone strutting | %ﬁwaﬁ'?rgﬁw

(=2 o T -~ B

163 : Whatis the intermediate support in
timber framed floor? | oIehal o el H HEITAT

AT FAT &7

A Joist | €eT

B Binders | S8

o Common rafter | Pl AT

D Strutting | T&Tear

164 : Whatis the name of part marked as X? | X
& ¥ H RAfgAd AT T AT FAT R ?

j[x
o ]
4

m m m
4 4 . 4

Strutting | EQ?T

Furring piece | WWW
Air space | aTg T ¥ITsT

Binders | ST88X

O 0o ® >

165 : Whatis the rise range in Jack floor? | K CY

Wﬁmiﬁw%‘?
A 25to30cm
B : 20to25cm
C : 10to20cm
D 30to35cm

166 : Which floor is applied with a thin coat of
cement-cow-dung? | HIHE-IMI-INER & Tdol HIT
a}?m%raﬁﬂmﬂfilﬂﬂ?ﬂém?ﬁ’é?

Murum Floor | HIH del

B Linoleum Floor | TereAiferze der
C Mud Floor | g T %l
D Asphalt Floor | STHY el
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167 : Which is a form of disintegrated rock with

building material? | fa&Tor @rershy & @rer fafea

TCCTeT T Ueh &Y ShisT ATE?

A Flagstone | FelaTEClel

B Murum | #IH

C Mosaic | ?Fﬁ??

D Granolithic | I fdS

168 : Whatis the ratio of cement mortar for
pointing in flagstone laying? | FoldeleT et &
53Tt et & TorT deie AR &7 3T a1 g?
A : 1.2

B : 1:3

C 1:4

D 1.5

169 : Which floor is resilient and noise proof? |
e GT el oTaitel 3T eafel gfaeeh g7

A : Asphalt floor | STFR & HE

B Cement concrete floor | HHE shehie &7 BT
C Rubber floor | T AT B

D PVC floor | Sy teY

170 : Whatis the name of part marked as x? | X

& FUH RAETT HRT I AT FATR?

A Wall plate | giel Tl

B : Bridging joist | ST SR

C Common rafter | PIHT TFe

D Floor boards | FI S

171 : Which system of reinforcement is

preferred in R.C.C upper floor for ordinary loading

condition? | gﬁw@raﬁﬂmmw
afgar Fufa & v R.C.c 39U AfSa & gdg i
ST 8?

One way | Teh TM&EAT

4 way | I dIhT

2 way | &I aR®T

Combined 2 and 4 way | Waﬁﬂﬂ

(=2 o T -~ B

AT

172 : Which floor is convenient to carryout
plumbing and electrical installation without

affecting the appearance? | 39TEAfY T FHTfAT
T e FTorarsit iR faegd sfersarde & faw

e Giamseieh g2

A Rib floor | Rer wel

B R.C.C floor | 3R & &Y AfSrer

C Timber floor | Wﬂ?ﬁmwtﬁﬂ'

D Jack arch floor | S 3T B

173 : Which floor do not require form work
during construction? | faaToT & S fhe wet &y
I3 T T ITTThdT TeT &7?

A : Precast concrete floor | qﬁﬁﬁam'ca:r
&

B : Double flange stone floor | 9l Felol Teld]
&

C : Jackarch floor | SAep 31Tk BT

D : Fillerjoist floor | fFeR ST TR

174 : Whatis the name of layer marked as x? |
X & &9 H RAITTd Rd 117 F18?

S s O K R |
D e ‘

Compacted earth filling | ST EXAT FRTT
Sand filling | 898 Tthforar

Lean concrete | IcTell dhshlc

Cement concrete | HIHET Hshic

O 0o ® >
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175 : Whatis the thickness of plain cement
concrete laid for the brick floor? | é?'q?%?a?ﬁ'ﬂ'

1S WIHC hshle & AlCTs FAT8?

A 5-75cm
B 10-15cm
C 16-20cm
D 21-25cm
176 : What s the proportion of lean cement

concrete used in cement concrete floor? | HIHT
ehshlc o B H Tl HIHAT shehie T HeTdT T

8?

A : 1:1:2

B : 1:1%:3

C : 1:24

D : 1:3:6

177 : Which floor wax is applied as a final coat

of polishing to get glossy surface? | dHHGN Hdg
o el oh TolT GiTerel o 3Tc# i o &9 il
T e AH ST STl 62

A : Mosaic floor | Ao BT

B Terrazzo floor | IS BT

C : Flagstone floor | ET@EFI'CFQT

D Granolithic floor | P wel

178 : Which floor with a concrete base is spread
and levelled with 5 to 8 cm thick lime-surkhi

mortar? | 3T 31T aTell it AT HioTel 5 T 8 JHT
T FE 35 71y Ul 3R T 2
. Terrazzo floor | TS B
Granolithic floor | I wel
Mosaic floor | Aot BT
Flagstone | Fa5dT

O 0O w >

179 : Which floor is used for surface subjected
to heavy wear like dairies and hospital? | ERIEE

3R 3EaTe S R faaw & fore frg AfSoT &1
39T R ST &2

A : Granolithic floor | AT AF et

B Asphalt floor | STAT FT B

o Terrazzo floor | STl B

D Cement concrete floor | e Fshre 1
180 : Whatis the ratio of cement mortar used
to fix tiles on floor? | W?TWE‘I??WEI#@IH?WQ?
fore diefie AR &7 31eura = §?

A : 1:2

B : 1:1

cC : 1:3

D : 1:4

181 : Which floor is constructed with cement

concrete 1:1:3 and aggregates used are limestone,

quartz silt and ballast? | T#HE Fshie 1: 1: 3 3R
T AT TeR, Fareat Mg 3R [Feé &

e weT 1 AT fRaT ST |2

A : Mosaic | Algs

B : Granolithic | Granolithic

C Marble | IR

D : Cementconcrete | §IHT Hshlc

182 : Whatis the name of part marked as x? | X
F ®9 H RITEAT HET T ATH FAT 8?2

Baffile | Baffile

Curtain wall | T8T A
Main wall | ﬁ@'aﬁﬂ'
Sleeper wall | TG T GHAR

O 0o w >
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183 : Which vertical transportation is suitable
for large number of people? | Pl Ty FeaTer
AREE S8 HEIT & oll9i & fIT 3ugeFd 87

A : Stairs | Afear

B Ramp | 39

C Escalator | Telcil HTer

D : Lift | fowFe

184 : What is the range of angle for stair? | Tl
& T HIUT T HATFAT§?

A : 40°to45° | 40°H45°

B : 45°t0o60° | 45°H60°

C : 25°t030°|25°W30°

D : 30°to40°|30°840°

185 : Whatis the name of part marked as x? | X

& ¥ H RfEad AT ATH F AT R?
7
X
Z.
A Going | 8T
B Baluster | STel¥eX
C Handrail | 898 ¥t
D Newel post | sidel IFE
186 : Whatis one end or both ends corners cut
in plan of a step? | ThTH Teh g o CTalled H Th
SR AT AT TBRT T e AT AT § |
A Commode | FHAS
B Splayed | TCIS
C Bull nose | Il AT
D Dancing step | STTHIT T&T

187 : Whatis the name of part marked as x? | X
& ¥ H RIfEad AT T AT FAT 82

x H
A Tread | <8
B : Going | MSaT
o Nosing | s {&aT
D : Scotia | ThIfeT

188 : What is the name of part marked as x? | X

& ¥ H RfgAd AT T AT FAT B2

A Tread | <8

B Riser | qT$alY

C Stringer | i?—'g;'ali

D Going | TﬁS?T

189 : Whatis the combined framework of
handrail and baluster in a stair? | Teh TGl Yo
3R STeIFe A TYFd TRTT FIATE?

A Barrister | SrelEel

B Stair | T

o Landing | oif3aT

D Stringer | i?—@ll

190 : Whatis an ordinary step of rectangular
shape in plan? | JST=IT H TAATRR TR AT Th
AT FGH FATg?

A : Flier | freR
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Going | Tﬂ'g'ﬂT
Tread | <8

D : Riser | {Tlgo}

191 : Which type of stair with the steps are
radiated from one point to upper floor? | et &

A1y fohe GehR T HIET Ueh foig & S’y AfSTer deh
ﬁ@v‘rsﬁr%"?

A : Geometrical stair | STTTHATT HIer

B : Helical stair | 9d&R HTer

C : Half turn stair | 3T HIS il

D Three quarter turn stair | Fﬂﬁﬁﬂ'lé’ﬁl’s’

192 : What s a stair turning through one right

angle? | WWWH@TE@WW@'%
A : Quarter turn stair | WH’I’S’W

B : Half turn stair | 38T #HIS Tl

C : Three quarter stair | ?ﬂﬂ'mm

D : Geomatrical stair | SATTACIT Hler

193 : Whatis a stair branched in two flights at
building? | aeT H &I FITSc H Ueh HIGT i T g

A : Geometrical stair | SaTfadT d@er
B : Bifurcated stair | GIaHTTSIT ST

C : Doglegged stair | CICIRCEERSI[A]

D Open Newel stair | 39T AdeT TGr

194 : Whatis a stair if its flights run opposite
direction and there is no space between the flights?

| afg IS Ferrse fauid fgem # e g 31k
FTSC & ST IS ST9T8 oTa] o, Al Ueh TIG! hisT T &
A : Open Newel stair | 3T9eT sid el T

B Geometrical stair | SITTACIT AT

C Three-quarter turn stair | Fﬁﬂ-ﬂ’fﬂl’éﬁ’s’
|rér

D Doglegged stair | 79T o195 T

195 : What is the name of stair? | TGT T AT
FATE?

fony

Geometrical stair | ST digr
Half turn stair | 38T H1S Her
Circular stair | Wﬂ?ﬁa
Quarter turn stair | Wmm

o 0o v >

196 : What is the name of stair? | TG &l ITH
FATE?

et

11 %

Three quarter turn stair | ?—ﬁﬂ'iﬁiﬂém's'

Half turn stair | 37T8T ®13 HTéT
Quarter turn stair | FaTET HAS AT

A
Hrér
B
(o
D Biffurcated stair | aﬁﬂﬁﬁ'?ﬁa

197 : Whatis the name of stair? | TG &l T
FATE?
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Circular stair | agimwh@r
Bifurcated stair | SIIHTTSTT HEr
Geometrical stair | FfAdT dier
Doglegged stair | SEIRCEER: [

o 0O v >

198 : What s the inclination of Escalator? |
TEheleX ol SIohTd FT 2

A : 45°
B : 40°
Cc : 35
D : 30°

199 : Whatisthe name of stone step? | I
T HE & HeH T ATH FAT 82

Cantilever step | Feclollal e
Spandril step | TdesRe T&T

Built up step | [AfF T Fea

Tread and riser step | €3 3R TS HeH

O 0O w >

200 : Whatis the name of stone step? | 92X
& e H T ATH FAT &2

A : Rectangular step | TIATR shaH

B : Spandril step | TdesRar &I

C : Cantilever step | hoclollaY e

D : Cantilever tread and riser step | Feelollal

23 IR TSR FeA

201 : Whatis the minimum width of a stair? |
5T T T geTcTH <lisTS AT §?

A : 70cm

B : 80cm

C : 90cm

D : 100cm

202 : Whatis the stairs flight having an opening
between two flights? | aﬁa%ﬁ%ﬁ@fﬁa’rméa

I 3T g

A : Half turn stair | 38T #Is Eer

B : Geometrical stair | mﬁmﬁwﬁﬁr

C : Open Newel stair | 39eT sid el Higr

D Three quarter turn stair | Fﬁﬂ'iﬁiﬂé?ﬁl—s’

203 : Whatis the minimum thickness range of
stringer used in wooden stair? | Thal 1 digr 7
TG [EEIR & =T e ACTS 1 82

A : 30to50 mm

B 50to 70 mm

C : 70to 80 mm

D 80 to 90 mm.

204 : Whatis the Height of riser in a stair? | Teh
HEr F TSR 1 FA1S FATE?

A : TotalHeight of floor

Number of riser
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B : (Number of riser - 1) 2 | TSI hl T&IAT - 1)2
C : (Number of riser - 2) | ({3 Fraear-2)
D : Numberofriser-3 | IIEEI@'QT@H-S

205 : Whatisthe number of steps required if
the Height of floor is 3.0 m assume the rise is 15 cm

for a single flight? | aﬁﬁﬁa@r?’m@s.o Hex g,
T Tk & FelTSC o TolT 15 THT dged U 3TaTHh
HEHT T TEAT FAT I ?

A : 21

B : 20

C : 19
D : 18

206 : Whatisthe number of treads if the height
of floor is 3.8 m and assume rise is 14 cm for double

flight? | Tfe BT Hr Fa1s 3.8 Aex & 3 el

FeITSC o TolT 14 THY & ol ¢3 I T&AT F47 gI<fr
A : 23

B : 24
C : 25
D : 26
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207 : Which rafter support extend from eaves to
ridge? | ShleT AT TR Seof ¥ Rl doh TERT YGT=T
AT

Valley rafter | dell TFT

Ridge rafter | Rt TFeX

Common rafter | PIFT TFX

Principle rafter | HEI IFCT

O 6 w >

208 : Whatis a rafter provided at junction of
two slopes? | & STl oh STareTeT U< T YeTeT fohaT

ST 8?

A : Jackrafter | 9feh %X

B : Common rafter | PIHT IAFX
C : Hip rafter | 89 TweX

D Principle rafter | HEI IFcT

209 : Whatis the edge of roof running between
the eaves and ridge? | 3saT IR RT F T ST Fr
FoReTIRT ST g eIt 82

A : Verge | aor

B : Cleat | Fellc

C : Template | CFIoIE

D : Purlin| gfele

210 : Whatis the name of part marked as X? | X
& A REAT AT FIAH FATE?

A : Hip|R9

B Fascia board | HAATAS
C Eaves | Ssal

D : Soffit | @fthe

211 : Whatis the name of part marked as X? | X
& & A RfEAT AT R AT FATE?

T
A

A Dormer | ey

B Fascia | BfAITSS

C Stepped flashing | T8 Tl fRier
D : Soffit | @ifthe

212 : Whatis the name of part marked as X? | X

& &Y H RITEAT HIIT T ATH FAT 82
—X

A : Hip| B9

B Valley | €ITEY

C : Ridge |R&T

D Wall plate | afel Tole

213 : Whatis termed as the inclination of roof?

| Bl & STehTd T AT gl ST 57

A : Eaves | Ssol

B : Pitch | 0T

C : Hip |9

D Gable | ISel

214 : Whatis the name of roof? | &d ol ATH
FATE?
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Ly

Hip roof | f69 &%

Gable roof | AT Th
Gambrel roof | 3TsTel &
Mansard roof | H#S &d

[] L]

o 6060 w >

215 : Whatis the name of part marked as X? | X
& A AT AT R AT FATE?

A Corbel | ider

B Corvice | SIRaA3d

C Blocking stone | sollfehaT TeleT

D Wall plate | arel Tl

216 : Whatis the economical span for collar
beam roof? | B ST T & [oIT STl TS gTc
FATE?

A : 55m

B 50m

C 4.7 m

D 43 m

217 : Whatis the name of part marked as X? | X
F ¥9 H RIETT 67 T ATH FAT 82

X
A : Cleat | el
B Battens | ScaT
C : Purlin | 9fdeT
D Common ratfer | PIHT T

218 : Whatis the name of part marked as X? | X
& & H RfgAqT AT R AT FATE?

X

A King post | a1 aFe

B Strut | ¥¢C

C : Purlin | 9feleT

D Principal rafter | HET TFX

219 : Whatis the economical span range for the
king post truss? | foheT 9iFe e & foT shall @
g1 T 82

A : 5to8m

B 3to45m

C : 9to10m

D 11to12m

220 : Whatis the name of part marked as X? | X
& ¥9 H Rfgad AeT T A Farg?
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A Straining beam | T AT ey
B Tie rod | E'.'Ié'ﬁ's’
C Collar | FroT
D Strut | ¥¢C
221 : Whatis the name of part marked as X? | X
& ¥ H RIfEAd AT T AT FAT B2
X

A Valley beam | dell &7
B Edge beam | TST &1
C Tie beam | E'Ié’é’l?:r
D Intermidiate beam | E‘EII“@QE S
222 What is the name of roof? | & ol ATH
FATE?

i 8

T2

T3

K T4
D< I6

A Barrel vault shell roof | ol afeec AT O
B Bowstring steel roof | WWW
C Steel frame dome | T %TQ‘TJ-TUIEE
D Belfast roof | SeTHIEC BT

223 : What is the name of roof? | & ol ATH

Truncated roof | %ﬁ?%

Belfast roof | SeTHIEC Bl

North light roof | 3T JehIRT B
Bowstring steel roof | SITECIT Tl &

O 0o ®w >

224 : What is the brick size used in Madras

terrace roof? | m@rmﬁé’twmw%?
A : 10x60x20cms
B 12 x65x 20 cms
C : 18x80x25cms
D 15x75x 25 cms

225 : Whatis the name of part marked as X? | X
F ®9 H RITEAT HET T ATH FAT 8?2

DC2AME

A : 2layers of plain cement concrete | are, Hee
Fhshlc 6T 2 T

B : 2layersofB.J.C | &9 Fr2 owd

C : 2courses of brick | §€3¥2 TE:\’?

D : Two courses of tiles | TISed & &l &g

226 : Which flat roof is provided with tie rod? |
TT$ VTS & A1 Tohd Folc S T TGTeT T STeil 87
A : R.C.Cfloor | 3TR &Y &Y te¥

B : Bengal terrace | STl T &
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C : Madras terrace | FGIH HT &
D : Jackarch floor | 3 3T B

227 : How many days are recommended to set
the concrete generally in Madras Terrace roof? |

ST &3 B H 3T dR R hshlc T el &

forw fercte Tt <hr 3regeraT &t Sireh &7

A : 2

B : 3

C : 4

D : 5

228 : How much surface slope is provided in
Bengal Terrace roof? | §3TTeT & & H fohdair
T Tollel JGTeT ahT STTcll g2

A : 5to7cm

B 8to10cm

C : 13to15cm

D 18to 20 cm

229 : What s the Brick Bat concrete thickness
generally adopted for Madras terrace roof? | #GIH

T HT B & oI IR W S ST FHshie T
HICTS T fhdelr oY STl 82

A : 125mm

B : 100 mm

C : 75mm

D : 60mm

230 : Whatisthe centre-to-centre distance of
joist in Brick concrete terrace roof? | éﬁww
H SIIEE ol he,--she Gl AT 52

A : 30cm

B 45 cm

C : 60cm

D 75 cm

231 : Whatis the name of part marked as X? | X
& A REAT AT FIAH FATE?

Collar | e

Tie beam | E'Ié'Eﬂ?:l'
Straining beam | @ﬁﬁTEﬂF
Straining sill | Fclﬁmm

(=2 o T -~ B

232 : Whatis the name of roof? | & ol ATH

Mansard roof | As©d
Deck roof | 3 &d
Gambrel roof | I &d
Gable roof | AT B

o 0o v >

233 : Whatis the name of roof? | & &l ATH

Mansard roof | HES &d
Gambrel roof | 3TsTel &
Hipped roof | I8%8 &
Gabled roof | AT B

O 0o ®w >

234 : Whatis the name of part marked as X? | X
& ¥ H Rfgad AeT A Far g?
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\

A Collar | FieT

B : Purlin | 9feleT

C : Tiebeam | TS AH

D Wall plate | arel Tole

235 : Which truss consists of wooden member

and steel or wrought iron member? | ﬁ”T\‘:I'Q'Hﬁ'
Ahel & T IR T AT NG & TSI gad &7
A : Truncated truss | Eaﬁ_s'?\':l'

B Composite truss | Aol ¢

C : Compound truss | WW

D King and queen post truss | f&aT 31T FeT
Q’IRE?-T

236 : Which truss consists of thin timber section
at its top chord curved? | 8 Y a1 9T
HATAGR Yol ofehs! & TS H ahiel AT el &7

A Truncated truss | %ﬁ%‘s’?}?

B Bow string truss | & T&¢ar &

C Bel fast truss | seT BIEC TH

D Mansard roof truss | ﬁﬂém;‘&

237 : Name the roof truss? | &% $H ol dATH
FATE ?

A : North light roof truss | 3dY JehIN & §H

B : Simple fink truss | f&qer ftheh &
C : Compound fink truss | Wﬁﬁ?w
D : House steel truss | 8138 Tl &

238 : Whatis the maximum slope given to the
flat roof? | THIA T Pl &I STeT aTell TR
ColTeT FAT 57

A : 5°

B : 6°

c : 8

D : 10°

239 : Which roof is useful that is provided on

circular brick? | i T & 39N § S AR 3¢
T GETeT T STl §7

Barrel vault shell roof | S3eT dfee T &d

: Steel frame dome | TETeT T A T[eie;

C : Belfast roof | SAPEE &d

D : Bowstring roof | YeJSThT &l

240 : Whatis the name of part marked as X? | X

& & H RATEAT HIIT T ATH FAT &2
/*X
p—— ;\ l' < 4 s l\. I A3

Lime concrete filling | WWW
Cement concrete filling | HTHE dhshic fhieiar
Sand filling | 3 Tohfelar

Earth filling | 372 fihfofer

O 0o w >

241 : Whatis the slope usually given on R.C.C
flat roof? | 3THTI 9T R.C.C FYUTE &d U FIAT Sollel

fear Srarg?

A : 1inl5|1581
B 1in20 | 20H 1
C : 1in60|60F1
D 1in 130 | 130 H 1
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242 : Whatis the centre-to-centre distance of
battens in Bengal Terrace roof? | TMA TSI H
e-H-dhg Fr gl AT E?

A : 15cm

B 20 cm.

C 25cm

D 30cm

243 : Whatis the centre-to-centre distance of
rafters in Bengal Terrace roof? | §3TTeT <& OdH
Fal T gl FaT g

A 20cm

B 30cm

C 40 cm

D 50 cm
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